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The following typographical errors have been identified:

1) The exponent 2 in the coefficientshni(k
2
i ), in para-

graph before Eq. (16) should be deleted, because they
appear only linearly in the Laḿe functions and their
derivatives in Eq. (15).

2) In Eq. (16) the correct coefficients arehn2(k
2
2) and

hn1(k
2
1) consistent with the statement in the fifth line

above.

3) A coefficient of 2 in Table I is missing. The corrected
numerical Table in such coefficients, Eq. (3), follows.

TABLE I. Coefficients of cartesian components of internal magnetic induction field from Eq. (16), for sucessive values of the asymmetry
distribution parametersσ[0, 60],k2

1 , k2
2 , and the nodal elliptic cone numbersn1 = 2, n2 = 0, and,n1 = 0, n2 = 2, for the upper and lower

signs, respectively.
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0 0 1.0000
−2 + 2 = 0

−2− 2 = −4
2

0− 2 = −2

0 + 2 = 2

5 0.0962 0.9038
−1.8077 + 1.9111 = 1.1034

−1.8077− 1.911 = −3.7188
2

−01923− 1.9111 = −2.1034

−01923 + 1.9111 = 1.7188

10 0.1848 0.8152
−1.6304 + 1.8432 = 0.2128

−1.6304− 1.8432 = −3.4736
2

−0.3696− 1.8432 = −2.2128

−0.3696 + 1.8432 = 1.4736

15 0.2679 0.7321
−1.4641 + 1.7932 = 0.3290

−1.4641− 1.7932 = −3.2573
2

−0.5359− 1.7932 = −2.3290

−0.5359 + 1.7932 = 1.2573

20 0.3473 0.6527
−1.3054 + 1.7588 = 0.4534

−1.3054− 1.7588 = −3.0642
2

−0.6946− 1.7588 = −2.4534

−0.6946 + 1.7588 = 1.0642

25 0.4242 0.5758
−1.1515 + 1.7387 = 0.5871

−1.1515− 1.7387 = −2.8902
2

−0.8485− 1.7387 = −2.5871

−0.8485 + 1.7387 = 0.8902

29 0.4849 0.5151
−1.0302 + 1.7323 = 0.7021

−1.0302− 1.7323 = −2.7625
2

−0.9698− 1.7323 = −2.7021

−0.9698 + 1.7323 = 0.7625

30 0.5000 0.5000
−1 + 2

√
3
4

= −1 +
√

3

1− 2
√

3
4

= −1−√3
2

−1− 2
√

3
4

= −1−√3

1 + 2
√

3
4

= −1 +
√

3

31 0.5151 0.4849
−0.9698 + 1.7323 = 0.7625

−0.9698− 1.7323 = −2.7021
2

−1.0302− 1.7323 = −2.7625

−1.0302 + 1.7323 = 0.7021

35 0.5758 0.4242
−0.8485 + 1.7387 = 0.8902

−0.8485− 1.7387 = −2.5871
2

−1.1515− 1.7387 = −2.8902

−1.1515 + 1.7387 = 0.5871

40 0.6527 0.3473
−0.6946 + 1.7588 = 1.0642

−0.6946− 1.7588 = −2.4534
2

−1.3054− 1.7588 = −3.0642

−1.3054 + 1.7588 = 0.4534

45 0.7321 0.2679
−0.5359 + 1.7932 = 1.2573

−0.5359− 1.7932 = −2.3290
2

−1.4641− 1.7932 = −3.2573

−1.4641 + 1.7932 = 0.3290

50 0.8152 0.1848
−0.3696 + 1.8432 = 1.4736

−0.3696− 1.8432 = −2.2128
2

−1.6304− 1.8432 = −3.4736

−1.6304 + 1.8432 = 0.2128

55 0.9038 0.0962
−01923 + 1.9111 = 1.7188

−01923− 1.9111 = −2.1034
2

−1.8077− 1.9111 = −3.7188

−1.8077 + 1.911 = 1.1034

60 1.0000 0
0 + 2 = 2

0− 2 = −2
2

−2− 2 = −4

−2 + 2 = 0


